

FINAL RESULTS

Project Number	Title	Firm(s) Selected	Date Posted	Department
PA75230003	Cesar Chavez Park: Soccer Fields and Dog Park DBB	Low Mountain Construction, Inc.	4/7/2015	Water Services

Final Bid Results

Project No: PA75230003-2

Project Name: Cesar Chavez Park: Soccer Fields and Dog Park

Item No.	Description	Unit	Quantity	Engineers Unit Price	Total	Low Mountain Unit Price	Total	Falcone Unit Price	Total	DNG Unit Price
1	Mobilization & Demobilization	L.S.	1	\$100,000.00	\$100,000.00	\$26,210.52	\$26,210.52	\$205,000.00	\$205,000.00	\$147,526.06
2	Construction Surveying & As-Builts	L.S.	1	\$30,000.00	\$30,000.00	\$18,289.12	\$18,289.12	\$39,500.00	\$39,500.00	\$14,117.73
3	ALLOWANCE for AZPDES Permit (and SWMP operations)	Allow	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
4	Miscellaneous Removal & Other Work (Includes sign removal, shrub removal and irrigation plugs, DG preservation, and existing irrigation renovation)	L.S.	1	\$7,500.00	\$7,500.00	\$5,824.56	\$5,824.56	\$10,000.00	\$10,000.00	\$455.16
5	Relocate Sign	EA.	2	\$250.00	\$500.00	\$192.21	\$384.42	\$250.00	\$500.00	\$169.41
6	Relocate Boulders	EA.	5	\$50.00	\$250.00	\$291.23	\$1,456.15	\$200.00	\$1,000.00	\$56.47
7	Remove Concrete Sidewalk	S.F.	2030	\$2.00	\$4,060.00	\$2.27	\$4,608.10	\$2.00	\$4,060.00	\$2.18
8	Adjust Manhole Frame and Cover	EA.	2	\$500.00	\$1,000.00	\$540.52	\$1,081.04	\$1,100.00	\$2,200.00	\$677.65
9	Salvage Asphalt Millings	S.Y.	3100	\$2.00	\$6,200.00	\$0.64	\$1,984.00	\$3.00	\$9,300.00	\$0.35
10	Sawcut & Remove Asphalt Pavement	S.Y.	278	\$10.00	\$2,780.00	\$3.09	\$859.02	\$7.00	\$1,946.00	\$8.45
11	Remove Stone Veneer Column	EA.	2	\$200.00	\$400.00	\$203.86	\$407.72	\$500.00	\$1,000.00	\$126.49
12	Salvage 2' Wire Mesh Fence and posts	L.F.	210	\$20.00	\$4,200.00	\$2.91	\$611.10	\$8.00	\$1,680.00	\$2.82
13	Remove Tree (12" - 24" Dia.)	EA.	2	\$500.00	\$1,000.00	\$145.61	\$291.22	\$800.00	\$1,600.00	\$158.12
14	Tree salvage and transplant	EA.	4	\$300.00	\$1,200.00	\$931.93	\$3,727.72	\$800.00	\$3,200.00	\$282.35
15	Concrete Sidewalk (M.A.G. Std. 230; 5" Thick; Includes Subgrade Prep.)	S.F.	26940	\$4.00	\$107,760.00	\$3.73	\$100,486.20	\$4.00	\$107,760.00	\$3.64
16	Concrete Sidewalk (M.A.G. Std. 230; 9" Thick; Includes Subgrade Prep.; at Speed Table, Detail 2, Sht. 22; and Trash Encl. Detail 2, Sht. C4.08.)	S.F.	2645	\$9.00	\$23,805.00	\$6.62	\$17,509.90	\$5.50	\$14,547.50	\$5.65
17	Concrete Sidewalk (Colored)(M.A.G. Std. 230; 5" Thick; Includes Subgrade Prep.)	S.F.	4385	\$6.00	\$26,310.00	\$4.99	\$21,881.15	\$4.50	\$19,732.50	\$4.26
18	Concrete Sidewalk (Colored, Exposed Aggregate)(M.A.G. Std. 230; 5" Thick; Includes Subgrade Prep.)	S.F.	900	\$7.00	\$6,300.00	\$6.21	\$5,589.00	\$8.00	\$7,200.00	\$6.21

19	Concrete Sidewalk (Colored, Exposed Aggregate, 9" Thick, Includes Subgrade Prep.)	S.F.	1120	\$11.00	\$12,320.00	\$7.72	\$8,646.40	\$8.00	\$8,960.00	\$9.04
20	Sidewalk Ramp (COP Std. Detail P1235-1)	EA.	1	\$750.00	\$750.00	\$698.95	\$698.95	\$1,800.00	\$1,800.00	\$2,032.95
21	Sidewalk Ramp (Detail 1, Sht. C4.05.)	EA.	1	\$750.00	\$750.00	\$291.23	\$291.23	\$950.00	\$950.00	\$1,061.65
22	Sidewalk Ramp (Detail 2, Sht. C4.05.)	EA.	2	\$750.00	\$1,500.00	\$320.35	\$640.70	\$950.00	\$1,900.00	\$1,084.24
23	Sidewalk Ramp (Detail 3, Sht. C4.05.)	EA.	1	\$750.00	\$750.00	\$407.72	\$407.72	\$1,200.00	\$1,200.00	\$677.65
24	Sidewalk Scupper (Detail 4, Sht. C4.03.)	L.F.	15	\$100.00	\$1,500.00	\$24.46	\$366.90	\$65.00	\$975.00	\$69.57
25	Concrete Scupper per M.A.G. Std. 206-2	EA.	2	\$4,500.00	\$9,000.00	\$3,494.74	\$6,989.48	\$3,400.00	\$6,800.00	\$1,581.19
26	Vertical Curb and Gutter (M.A.G. Std. 220-1, Type 'A' & Modified per Detail 5, Sht. C4.05.)	L.F.	2000	\$20.00	\$40,000.00	\$19.40	\$38,800.00	\$22.00	\$44,000.00	\$14.68
27	Single Curb (M.A.G. Std. 222, Type 'B')	L.F.	231	\$20.00	\$4,620.00	\$19.51	\$4,506.81	\$19.00	\$4,389.00	\$14.67
28	Ribbon Curb (M.A.G. Std. Detail 220-1, Type B.)	L.F.	120	\$19.00	\$2,280.00	\$19.51	\$2,341.20	\$22.00	\$2,640.00	\$14.68
29	Curb Termination (M.A.G. Detail 222)	L.F.	25	\$25.00	\$625.00	\$18.64	\$466.00	\$20.00	\$500.00	\$14.68
30	Concrete Curb 10"x 8" (Detail 4, Sht. C4.05.)	L.F.	4927	\$13.00	\$64,051.00	\$5.59	\$27,541.93	\$14.00	\$68,978.00	\$9.04
31	Concrete Curb 10"x 18" (Detail 4, Sht. C4.05.)	L.F.	312	\$25.00	\$7,800.00	\$11.24	\$3,506.88	\$16.00	\$4,992.00	\$18.07
32	Concrete Curb Stop per MAG Std. Det. 150	EA.	6	\$150.00	\$900.00	\$34.95	\$209.70	\$200.00	\$1,200.00	\$272.75
33	4-ft Stone Veneer Column (Detail 6, Sht. C4.06.)	EA.	14	\$1,200.00	\$16,800.00	\$1,322.68	\$18,517.52	\$525.00	\$7,350.00	\$1,437.51
34	8-ft Stone Veneer Column (Detail 2, Sht. C4.07.)	EA.	10	\$3,500.00	\$35,000.00	\$2,358.95	\$23,589.50	\$725.00	\$7,250.00	\$2,395.83
35	Stone Veneer Base at Ramada Column (Detail 1, Sht. C4.10.)	EA.	26	\$1,000.00	\$26,000.00	\$614.85	\$15,986.10	\$400.00	\$10,400.00	\$1,468.24
36	6-ft Block Wall at Trash Enclosure (Detail 3, Sht. C4.08.)	L.F.	38	\$100.00	\$3,800.00	\$133.35	\$5,067.30	\$120.00	\$4,560.00	\$121.32

37	New Wire Mesh Fence (Reconstruct from salvage, 2-ft Ht., Detail 8, Sht. C4.06.)	L.F.	210	\$30.00	\$6,300.00	\$13.83	\$2,904.30	\$25.00	\$5,250.00	\$9.83
38	Ornamental Fence (6-ft Ht., Detail 1, Sht. C4.07.)	L.F.	1895	\$40.00	\$75,800.00	\$35.20	\$66,704.00	\$40.00	\$75,800.00	\$32.19
39	4-ft Gate (4' Opening x 6'H, Detail 1, Sht. C4.07.)	EA.	4	\$300.00	\$1,200.00	\$605.75	\$2,423.00	\$1,200.00	\$4,800.00	\$553.41
40	16-ft Gate (16' Opening x 6'H, Detail 1, Sht. C4.07.)	EA.	2	\$1,500.00	\$3,000.00	\$1,840.64	\$3,681.28	\$3,200.00	\$6,400.00	\$1,682.83
41	30-ft Gate (30' Opening x 2'H, Detail 1, Sht. C4.06.)	EA.	1	\$1,700.00	\$1,700.00	\$2,396.54	\$2,396.54	\$5,200.00	\$5,200.00	\$2,191.07
42	Trash Enclosure Gate (17' W x 6'H, Detail 3, C4.08.)	EA.	1	\$2,500.00	\$2,500.00	\$1,729.46	\$1,729.46	\$3,800.00	\$3,800.00	\$1,581.19
43	Safety Railing per C.O.P. Det. P-1173	L.F.	33	\$60.00	\$1,980.00	\$38.30	\$1,263.90	\$70.00	\$2,310.00	\$35.01
44	Picnic Table (Detail 1. Sht. C4.08.)	EA.	13	\$1,200.00	\$15,600.00	\$775.83	\$10,085.79	\$1,050.00	\$13,650.00	\$834.99
45	4' Bench (w/Back and concrete pad, Detail 6, Sht. C4.09.)	EA.	22	\$1,400.00	\$30,800.00	\$879.51	\$19,349.22	\$1,100.00	\$24,200.00	\$1,048.77
46	4' Bench (w/o Back, Detail 6, Sht. C4.09.)	EA.	3	\$750.00	\$2,250.00	\$774.67	\$2,324.01	\$1,000.00	\$3,000.00	\$825.98
47	Bike "U" Rack (Detail 2, Sht. C4.08.)	EA.	7	\$200.00	\$1,400.00	\$349.47	\$2,446.29	\$300.00	\$2,100.00	\$327.21
48	Pipe Bollard (at Trash Enclosure, Detail 4, Sht. C4.08.)	EA.	7	\$200.00	\$1,400.00	\$349.47	\$2,446.29	\$450.00	\$3,150.00	\$171.03
49	Permanent Bollard (Detail 5, Sht. C4.08.)	EA.	4	\$400.00	\$1,600.00	\$535.86	\$2,143.44	\$700.00	\$2,800.00	\$349.84
50	Removable Bollard (Detail 6, Sht. C4.08.)	EA.	11	\$450.00	\$4,950.00	\$547.51	\$6,022.61	\$650.00	\$7,150.00	\$610.71
51	Ramada (16' x 16', Detail 2, Sht. C4.10.)	EA.	3	\$17,000.00	\$51,000.00	\$12,214.10	\$36,642.30	\$16,000.00	\$48,000.00	\$13,991.23
52	Ramada (16' x 20', Detail 2, Sht. C4.10.)	EA.	2	\$19,000.00	\$38,000.00	\$14,033.70	\$28,067.40	\$20,000.00	\$40,000.00	\$16,788.80
53	Ramada (16' x 28', Detail 2, Sht. C4.10.)	EA.	1	\$24,000.00	\$24,000.00	\$17,887.22	\$17,887.22	\$25,000.00	\$25,000.00	\$22,002.20
54	BBQ Grill (Detail 7, Sht. C4.09)	EA.	4	\$500.00	\$2,000.00	\$350.64	\$1,402.56	\$425.00	\$1,700.00	\$406.59
55	Drinking Fountain complete (With Pet Fountain, Includes drainage system, Detail 3, Sht. C4.09.)	EA.	2	\$5,500.00	\$11,000.00	\$5,824.56	\$11,649.12	\$1,800.00	\$3,600.00	\$10,659.45
56	Drinking Fountain complete(Includes drainage system, Detail 3, Sht. C4.09.)	EA.	1	\$5,000.00	\$5,000.00	\$3,727.72	\$3,727.72	\$2,500.00	\$2,500.00	\$9,967.12

57	Soccer Goal (With Anchors and Net, Detail 5, Sht. C4.09.)	PAIR	2	\$4,500.00	\$9,000.00	\$3,552.98	\$7,105.96	\$4,000.00	\$8,000.00	\$3,444.73
58	Soccer Field Marker System	EA.	2	\$75.00	\$150.00	\$279.58	\$559.16	\$300.00	\$600.00	\$355.77
59	Accessible Parking Sign & Post	EA.	6	\$250.00	\$1,500.00	\$270.26	\$1,621.56	\$350.00	\$2,100.00	\$169.41
60	ALLOWANCE for Concrete Sculpture(Detail 10,Sht. C4.05)	Allow	1	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00
61	Earthwork, Complete	L.S.	1	\$200,000.00	\$200,000.00	\$87,720.21	\$87,720.21	\$120,000.00	\$120,000.00	\$107,916.30
62	Asphalt Millings (Relocate Existing)	S.Y.	3100	\$4.00	\$12,400.00	\$0.87	\$2,697.00	\$4.00	\$12,400.00	\$0.35
63	Site Electrical System (Includes new controls, metering, area lights, parking lot lights, and all trenching, backfill, compaction, wiring, conduit, stubouts, pull boxes, and any other material and labor required for a complete operational system as shown on plans)	L.S.	1	\$380,000.00	\$380,000.00	\$200,340.41	\$200,340.41	\$250,000.00	\$250,000.00	\$298,517.66
64	Subgrade Preparation	S.Y.	4525	\$7.00	\$31,675.00	\$1.69	\$7,647.25	\$2.00	\$9,050.00	\$1.36
65	Asphalt Concrete Surface Course, Type D 1/2, 1" Thick	TON	255	\$95.00	\$24,225.00	\$99.02	\$25,250.10	\$100.00	\$25,500.00	\$89.45
66	Asphalt Concrete Surface Course, Type C 3/4, 2" Thick	TON	509	\$90.00	\$45,810.00	\$94.65	\$48,176.85	\$100.00	\$50,900.00	\$93.59
67	Emulsified Asphalt for Tack Coat, Type SS-1h	TON	2	\$1,200.00	\$2,400.00	\$495.09	\$990.18	\$1,400.00	\$2,800.00	\$1,271.72
68	Aggregate Base Course, 6" Thick	TON	1849	\$35.00	\$64,715.00	\$17.56	\$32,468.44	\$15.00	\$27,735.00	\$18.61
69	Parking Lot Striping, 4" White Stripe & Handicap Pavement Markings	L.S.	1	\$2,000.00	\$2,000.00	\$5,445.96	\$5,445.96	\$3,000.00	\$3,000.00	\$1,468.24
70	Sport Field Specification Sand (8" Depth)	TON	9700	\$37.00	\$358,900.00	\$34.95	\$339,015.00	\$31.00	\$300,700.00	\$33.88
71	Tree (48" Box)	EA.	77	\$700.00	\$53,900.00	\$1,106.67	\$85,213.59	\$1,100.00	\$84,700.00	\$1,165.56
72	Tree (36" Box)	EA.	111	\$550.00	\$61,050.00	\$483.44	\$53,661.84	\$425.00	\$47,175.00	\$446.12
73	Tree (24" Box)	EA.	44	\$230.00	\$10,120.00	\$244.63	\$10,763.72	\$300.00	\$13,200.00	\$199.44
74	Shrub (5 Gal.)	EA.	611	\$22.00	\$13,442.00	\$18.06	\$11,034.66	\$17.00	\$10,387.00	\$12.99
75	Shrub (1 Gal.)	EA.	55	\$10.00	\$550.00	\$6.41	\$352.55	\$7.00	\$385.00	\$5.07
76	Sod (Washed)	S.F.	265000	\$0.70	\$185,500.00	\$0.75	\$198,750.00	\$0.62	\$164,300.00	\$0.99
77	Sod	S.F.	164000	\$0.45	\$73,800.00	\$0.63	\$103,320.00	\$0.51	\$83,640.00	\$0.69
78	Decomposed Granite (3/4" Minus)	S.F.	159100	\$0.45	\$71,595.00	\$0.42	\$66,822.00	\$0.30	\$47,730.00	\$0.40
79	Stabilized Decomposed Granite (3/8" Minus, w/ stabilizer)	S.F.	27500	\$1.10	\$30,250.00	\$0.48	\$13,200.00	\$0.35	\$9,625.00	\$0.45
80	Engineered Wood Fiber	C.Y.	57	\$40.00	\$2,280.00	\$60.94	\$3,473.58	\$48.00	\$2,736.00	\$47.99

81	Rip Rap (D50 = 6")	C.Y.	69	\$80.00	\$5,520.00	\$78.05	\$5,385.45	\$80.00	\$5,520.00	\$73.41
82	Sprinkler Irrigation System, Complete (Includes all trenching, bedding, backfill, bubbler heads, electric valves, master valves, sprinkler heads, quick couplers, gate valves, pvc pipe, sleeves, and all other work required for a complete operational system)	L.S.	1	\$280,000.00	\$280,000.00	\$355,298.18	\$355,298.18	\$350,000.00	\$350,000.00	\$227,255.89
83	3/4" Schedule 40 PVC in Blue Polywrap (Includes connection to 6" supply)	L.F.	450	\$7.00	\$3,150.00	\$20.47	\$9,211.50	\$5.00	\$2,250.00	\$8.94
84	1" Ford Ball Valve w/ Valve Box and Cover Per C.O.P. Det. P-1391.	EA.	4	\$200.00	\$800.00	\$355.30	\$1,421.20	\$55.00	\$220.00	\$371.58
85	3/4" Reduce Pressure Backflow Prevention Unit and Cage (Details 1&2, Sht. 27.)	EA.	2	\$1,400.00	\$2,800.00	\$2,245.37	\$4,490.74	\$1,400.00	\$2,800.00	\$1,299.96
86	6" Floor Drain (Complete, Detail 4, Sht. C4.09.)	EA.	2	\$500.00	\$1,000.00	\$2,136.45	\$4,272.90	\$1,500.00	\$3,000.00	\$1,645.56
87	6" D.I.P. (CL 350) Waterline	L.F.	20	\$60.00	\$1,200.00	\$73.10	\$1,462.00	\$75.00	\$1,500.00	\$266.54
88	Fire Hydrant, M.A.G. Std 360	EA.	1	\$3,000.00	\$3,000.00	\$9,819.04	\$9,819.04	\$3,500.00	\$3,500.00	\$9,242.03
89	6" HDPE Perforated Pipe	L.F.	1700	\$10.00	\$17,000.00	\$27.68	\$47,056.00	\$10.00	\$17,000.00	\$22.13
90	6" HDPE Perforated Drainage Pipe (in Joint Trench)	L.F.	1250	\$6.00	\$7,500.00	\$19.75	\$24,687.50	\$6.00	\$7,500.00	\$20.48
91	6" HDPE Drainage Pipe	L.F.	345	\$12.00	\$4,140.00	\$27.96	\$9,646.20	\$10.00	\$3,450.00	\$20.61
92	12" HDPE Drainage Pipe	L.F.	1070	\$20.00	\$21,400.00	\$44.27	\$47,368.90	\$18.00	\$19,260.00	\$36.48
93	15" HDPE Drainage Pipe	L.F.	500	\$35.00	\$17,500.00	\$60.09	\$30,045.00	\$22.00	\$11,000.00	\$44.33
94	18" HDPE Drainage Pipe	L.F.	685	\$45.00	\$30,825.00	\$66.23	\$45,367.55	\$27.00	\$18,495.00	\$44.39
95	Drywell (Detail 5, Sht. C4.03)	EA.	1	\$10,000.00	\$10,000.00	\$20,968.42	\$20,968.42	\$1,200.00	\$1,200.00	\$9,825.94
96	Catch Basin (C.O.P. Det. P1570 Type N- Single)	EA.	1	\$2,500.00	\$2,500.00	\$4,650.91	\$4,650.91	\$1,291.00	\$1,291.00	\$3,206.42
97	Field Basin Type A (Detail 2, Sht. C4.03.)	EA.	2	\$750.00	\$1,500.00	\$2,660.66	\$5,321.32	\$1,000.00	\$2,000.00	\$3,171.41
98	Field Basin Type B (Detail 3, Sht. C4.03.)	EA.	10	\$500.00	\$5,000.00	\$298.51	\$2,985.10	\$1,300.00	\$13,000.00	\$139.14
99	Bleed-Off Structure (Detail 1, Sht. C4.03.)	EA.	2	\$2,000.00	\$4,000.00	\$728.07	\$1,456.14	\$1,650.00	\$3,300.00	\$3,518.14
GRAND TOTALS					\$2,952,288.00		\$2,596,615.78		\$2,697,429.00	

Total	Valley Rain Unit Price	Total	FCI Unit Price	Total	Danson Unit Price	Total	TSG Unit Price	Total	ELS Unit Price	Total
\$147,526.06	\$5,000.00	\$5,000.00	\$23,445.72	\$23,445.72	\$14,962.89	\$14,962.89	\$29,000.00	\$29,000.00	\$77,648.00	\$77,648.00
\$14,117.73	\$20,000.00	\$20,000.00	\$17,707.11	\$17,707.11	\$15,927.36	\$15,927.36	\$15,000.00	\$15,000.00	\$19,164.00	\$19,164.00
\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
\$455.16	\$1,000.00	\$1,000.00	\$449.94	\$449.94	\$6,524.03	\$6,524.03	\$6,000.00	\$6,000.00	\$18,675.00	\$18,675.00
\$338.82	\$300.00	\$600.00	\$55.83	\$111.66	\$476.67	\$953.34	\$115.00	\$230.00	\$160.00	\$320.00
\$282.35	\$85.00	\$425.00	\$223.29	\$1,116.45	\$302.08	\$1,510.40	\$300.00	\$1,500.00	\$50.00	\$250.00
\$4,425.40	\$6.00	\$12,180.00	\$2.15	\$4,364.50	\$1.13	\$2,293.90	\$1.90	\$3,857.00	\$2.30	\$4,669.00
\$1,355.30	\$1,100.00	\$2,200.00	\$669.88	\$1,339.76	\$1,312.27	\$2,624.54	\$578.00	\$1,156.00	\$1,041.50	\$2,083.00
\$1,085.00	\$1.75	\$5,425.00	\$0.35	\$1,085.00	\$1.64	\$5,084.00	\$2.00	\$6,200.00	\$0.37	\$1,147.00
\$2,349.10	\$22.00	\$6,116.00	\$8.35	\$2,321.30	\$8.38	\$2,329.64	\$11.50	\$3,197.00	\$13.30	\$3,697.40
\$252.98	\$150.00	\$300.00	\$125.04	\$250.08	\$810.91	\$1,621.82	\$230.00	\$460.00	\$133.60	\$267.20
\$592.20	\$8.00	\$1,680.00	\$6.70	\$1,407.00	\$20.19	\$4,239.90	\$3.00	\$630.00	\$4.80	\$1,008.00
\$316.24	\$400.00	\$800.00	\$156.31	\$312.62	\$643.79	\$1,287.58	\$600.00	\$1,200.00	\$293.20	\$586.40
\$1,129.40	\$300.00	\$1,200.00	\$1,395.58	\$5,582.32	\$1,129.64	\$4,518.56	\$350.00	\$1,400.00	\$500.00	\$2,000.00
\$98,061.60	\$4.25	\$114,495.00	\$4.31	\$116,111.40	\$4.13	\$111,262.20	\$4.00	\$107,760.00	\$6.10	\$164,334.00
\$14,944.25	\$6.00	\$15,870.00	\$7.63	\$20,181.35	\$7.74	\$20,472.30	\$7.00	\$18,515.00	\$7.00	\$18,515.00
\$18,680.10	\$5.25	\$23,021.25	\$5.67	\$24,862.95	\$5.71	\$25,038.35	\$6.00	\$26,310.00	\$7.00	\$30,695.00
\$5,589.00	\$8.00	\$7,200.00	\$7.08	\$6,372.00	\$7.95	\$7,155.00	\$7.00	\$6,300.00	\$7.50	\$6,750.00

\$10,124.80	\$6.00	\$6,720.00	\$8.97	\$10,046.40	\$9.63	\$10,785.60	\$9.00	\$10,080.00	\$9.00	\$10,080.00
\$2,032.95	\$3,000.00	\$3,000.00	\$839.59	\$839.59	\$1,792.28	\$1,792.28	\$800.00	\$800.00	\$1,790.00	\$1,790.00
\$1,061.65	\$1,500.00	\$1,500.00	\$349.45	\$349.45	\$1,303.17	\$1,303.17	\$350.00	\$350.00	\$1,790.00	\$1,790.00
\$2,168.48	\$1,000.00	\$2,000.00	\$385.18	\$770.36	\$861.05	\$1,722.10	\$380.00	\$760.00	\$1,790.00	\$3,580.00
\$677.65	\$1,600.00	\$1,600.00	\$489.01	\$489.01	\$1,442.44	\$1,442.44	\$500.00	\$500.00	\$1,790.00	\$1,790.00
\$1,043.55	\$100.00	\$1,500.00	\$29.25	\$438.75	\$92.89	\$1,393.35	\$29.00	\$435.00	\$48.00	\$720.00
\$3,162.38	\$1,000.00	\$2,000.00	\$4,199.02	\$8,398.04	\$4,668.06	\$9,336.12	\$4,200.00	\$8,400.00	\$1,900.00	\$3,800.00
\$29,360.00	\$15.00	\$30,000.00	\$22.41	\$44,820.00	\$22.83	\$45,660.00	\$22.00	\$44,000.00	\$21.50	\$43,000.00
\$3,388.77	\$16.00	\$3,696.00	\$22.41	\$5,176.71	\$26.48	\$6,116.88	\$22.00	\$5,082.00	\$21.00	\$4,851.00
\$1,761.60	\$17.00	\$2,040.00	\$22.41	\$2,689.20	\$30.30	\$3,636.00	\$22.00	\$2,640.00	\$21.50	\$2,580.00
\$367.00	\$38.00	\$950.00	\$22.41	\$560.25	\$60.51	\$1,512.75	\$22.00	\$550.00	\$21.00	\$525.00
\$44,540.08	\$8.00	\$39,416.00	\$6.31	\$31,089.37	\$6.48	\$31,926.96	\$6.00	\$29,562.00	\$21.00	\$103,467.00
\$5,637.84	\$20.00	\$6,240.00	\$12.33	\$3,846.96	\$15.35	\$4,789.20	\$12.00	\$3,744.00	\$21.50	\$6,708.00
\$1,636.50	\$150.00	\$900.00	\$31.26	\$187.56	\$214.60	\$1,287.60	\$140.00	\$840.00	\$45.00	\$270.00
\$20,125.14	\$1,600.00	\$22,400.00	\$1,305.63	\$18,278.82	\$1,627.57	\$22,785.98	\$1,700.00	\$23,800.00	\$1,222.50	\$17,115.00
\$23,958.30	\$4,200.00	\$42,000.00	\$2,298.80	\$22,988.00	\$2,701.64	\$27,016.40	\$2,800.00	\$28,000.00	\$2,159.00	\$21,590.00
\$38,174.24	\$1,300.00	\$33,800.00	\$589.49	\$15,326.74	\$667.57	\$17,356.82	\$1,550.00	\$40,300.00	\$698.00	\$18,148.00
\$4,610.16	\$120.00	\$4,560.00	\$144.02	\$5,472.76	\$185.47	\$7,047.86	\$170.00	\$6,460.00	\$83.50	\$3,173.00

\$2,064.30	\$115.00	\$24,150.00	\$13.25	\$2,782.50	\$17.02	\$3,574.20	\$30.00	\$6,300.00	\$201.00	\$42,210.00
\$61,000.05	\$42.00	\$79,590.00	\$33.74	\$63,937.30	\$30.52	\$57,835.40	\$34.00	\$64,430.00	\$95.40	\$180,783.00
\$2,213.64	\$1,500.00	\$6,000.00	\$580.14	\$2,320.56	\$784.26	\$3,137.04	\$900.00	\$3,600.00	\$1,312.00	\$5,248.00
\$3,365.66	\$3,000.00	\$6,000.00	\$1,764.09	\$3,528.18	\$2,136.73	\$4,273.46	\$2,500.00	\$5,000.00	\$3,936.00	\$7,872.00
\$2,191.07	\$4,000.00	\$4,000.00	\$2,296.87	\$2,296.87	\$4,852.82	\$4,852.82	\$3,500.00	\$3,500.00	\$4,771.00	\$4,771.00
\$1,581.19	\$3,000.00	\$3,000.00	\$1,657.54	\$1,657.54	\$3,571.56	\$3,571.56	\$3,100.00	\$3,100.00	\$4,771.00	\$4,771.00
\$1,155.33	\$32.00	\$1,056.00	\$36.71	\$1,211.43	\$63.43	\$2,093.19	\$86.00	\$2,838.00	\$66.00	\$2,178.00
\$10,854.87	\$1,000.00	\$13,000.00	\$792.69	\$10,304.97	\$864.37	\$11,236.81	\$600.00	\$7,800.00	\$1,215.00	\$15,795.00
\$23,072.94	\$1,200.00	\$26,400.00	\$1,585.38	\$34,878.36	\$1,177.83	\$25,912.26	\$1,020.00	\$22,440.00	\$1,395.00	\$30,690.00
\$2,477.94	\$1,200.00	\$3,600.00	\$1,568.63	\$4,705.89	\$1,901.34	\$5,704.02	\$670.00	\$2,010.00	\$1,220.00	\$3,660.00
\$2,290.47	\$300.00	\$2,100.00	\$282.46	\$1,977.22	\$418.07	\$2,926.49	\$210.00	\$1,470.00	\$360.00	\$2,520.00
\$1,197.21	\$250.00	\$1,750.00	\$424.26	\$2,969.82	\$644.56	\$4,511.92	\$230.00	\$1,610.00	\$172.00	\$1,204.00
\$1,399.36	\$400.00	\$1,600.00	\$643.08	\$2,572.32	\$1,014.89	\$4,059.56	\$270.00	\$1,080.00	\$483.00	\$1,932.00
\$6,717.81	\$700.00	\$7,700.00	\$657.60	\$7,233.60	\$966.13	\$10,627.43	\$530.00	\$5,830.00	\$570.00	\$6,270.00
\$41,973.69	\$15,000.00	\$45,000.00	\$11,526.36	\$34,579.08	\$17,545.34	\$52,636.02	\$23,000.00	\$69,000.00	\$14,615.00	\$43,845.00
\$33,577.60	\$17,000.00	\$34,000.00	\$14,035.06	\$28,070.12	\$20,918.33	\$41,836.66	\$20,000.00	\$40,000.00	\$16,350.00	\$32,700.00
\$22,002.20	\$23,000.00	\$23,000.00	\$18,984.34	\$18,984.34	\$27,466.50	\$27,466.50	\$21,000.00	\$21,000.00	\$30,640.00	\$30,640.00
\$1,626.36	\$400.00	\$1,600.00	\$338.29	\$1,353.16	\$575.92	\$2,303.68	\$320.00	\$1,280.00	\$680.00	\$2,720.00
\$21,318.90	\$8,500.00	\$17,000.00	\$4,611.00	\$9,222.00	\$9,055.54	\$18,111.08	\$4,600.00	\$9,200.00	\$7,465.00	\$14,930.00
\$9,967.12	\$8,000.00	\$8,000.00	\$4,610.99	\$4,610.99	\$10,312.10	\$10,312.10	\$5,500.00	\$5,500.00	\$6,996.00	\$6,996.00

\$6,889.46	\$4,000.00	\$8,000.00	\$4,393.29	\$8,786.58	\$4,860.80	\$9,721.60	\$4,700.00	\$9,400.00	\$4,275.00	\$8,550.00
\$711.54	\$800.00	\$1,600.00	\$379.60	\$759.20	\$755.20	\$1,510.40	\$240.00	\$480.00	\$530.00	\$1,060.00
\$1,016.46	\$100.00	\$600.00	\$206.55	\$1,239.30	\$364.08	\$2,184.48	\$170.00	\$1,020.00	\$220.00	\$1,320.00
\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00
\$107,916.30	\$150,000.00	\$150,000.00	\$81,381.23	\$81,381.23	\$174,631.24	\$174,631.24	\$356,211.00	\$356,211.00	\$96,940.75	\$96,940.75
\$1,085.00	\$1.40	\$4,340.00	\$0.35	\$1,085.00	\$1.42	\$4,402.00	\$6.00	\$18,600.00	\$0.37	\$1,147.00
\$298,517.66	\$280,000.00	\$280,000.00	\$192,008.19	\$192,008.19	\$215,480.77	\$215,480.77	\$253,000.00	\$253,000.00	\$361,420.00	\$361,420.00
\$6,154.00	\$15.00	\$67,875.00	\$1.34	\$6,063.50	\$0.88	\$3,982.00	\$6.00	\$27,150.00	\$1.45	\$6,561.25
\$22,809.75	\$100.00	\$25,500.00	\$88.42	\$22,547.10	\$40.33	\$10,284.15	\$138.00	\$35,190.00	\$94.50	\$24,097.50
\$47,637.31	\$98.00	\$49,882.00	\$92.52	\$47,092.68	\$61.68	\$31,395.12	\$117.00	\$59,553.00	\$99.00	\$50,391.00
\$2,543.44	\$850.00	\$1,700.00	\$1,257.14	\$2,514.28	\$1,766.84	\$3,533.68	\$650.00	\$1,300.00	\$1,343.25	\$2,686.50
\$34,409.89	\$22.00	\$40,678.00	\$18.40	\$34,021.60	\$10.99	\$20,320.51	\$40.00	\$73,960.00	\$20.00	\$36,980.00
\$1,468.24	\$2,800.00	\$2,800.00	\$2,456.22	\$2,456.22	\$2,055.22	\$2,055.22	\$1,500.00	\$1,500.00	\$1,750.00	\$1,750.00
\$328,636.00	\$20.00	\$194,000.00	\$47.45	\$460,265.00	\$47.45	\$460,265.00	\$36.00	\$349,200.00	\$35.00	\$339,500.00
\$89,748.12	\$1,300.00	\$100,100.00	\$1,116.46	\$85,967.42	\$903.69	\$69,584.13	\$1,100.00	\$84,700.00	\$920.00	\$70,840.00
\$49,519.32	\$700.00	\$77,700.00	\$446.59	\$49,571.49	\$345.06	\$38,301.66	\$478.00	\$53,058.00	\$475.00	\$52,725.00
\$8,775.36	\$280.00	\$12,320.00	\$223.29	\$9,824.76	\$144.22	\$6,345.68	\$240.00	\$10,560.00	\$180.00	\$7,920.00
\$7,936.89	\$20.00	\$12,220.00	\$18.98	\$11,596.78	\$8.52	\$5,205.72	\$18.00	\$10,998.00	\$15.50	\$9,470.50
\$278.85	\$8.00	\$440.00	\$7.82	\$430.10	\$19.40	\$1,067.00	\$7.00	\$385.00	\$5.00	\$275.00
\$262,350.00	\$0.65	\$172,250.00	\$0.94	\$249,100.00	\$0.44	\$116,600.00	\$0.75	\$198,750.00	\$0.95	\$251,750.00
\$113,160.00	\$0.55	\$90,200.00	\$0.65	\$106,600.00	\$0.38	\$62,320.00	\$0.62	\$101,680.00	\$0.62	\$101,680.00
\$63,640.00	\$0.50	\$79,550.00	\$0.33	\$52,503.00	\$0.29	\$46,139.00	\$0.40	\$63,640.00	\$0.33	\$52,503.00
\$12,375.00	\$1.00	\$27,500.00	\$0.61	\$16,775.00	\$0.45	\$12,375.00	\$0.48	\$13,200.00	\$1.01	\$27,775.00
\$2,735.43	\$60.00	\$3,420.00	\$72.57	\$4,136.49	\$64.09	\$3,653.13	\$37.00	\$2,109.00	\$71.00	\$4,047.00

\$5,065.29	\$90.00	\$6,210.00	\$83.73	\$5,777.37	\$80.66	\$5,565.54	\$35.00	\$2,415.00	\$76.50	\$5,278.50
\$227,255.89	\$337,000.00	\$337,000.00	\$430,457.93	\$430,457.93	\$511,117.52	\$511,117.52	\$245,000.00	\$245,000.00	\$361,068.00	\$361,068.00
\$4,023.00	\$7.00	\$3,150.00	\$0.95	\$427.50	\$17.72	\$7,974.00	\$20.00	\$9,000.00	\$17.00	\$7,650.00
\$1,486.32	\$400.00	\$1,600.00	\$31.26	\$125.04	\$683.99	\$2,735.96	\$350.00	\$1,400.00	\$505.00	\$2,020.00
\$2,599.92	\$1,500.00	\$3,000.00	\$2,679.51	\$5,359.02	\$1,813.63	\$3,627.26	\$2,200.00	\$4,400.00	\$1,607.00	\$3,214.00
\$3,291.12	\$900.00	\$1,800.00	\$1,395.58	\$2,791.16	\$1,479.39	\$2,958.78	\$2,100.00	\$4,200.00	\$1,075.00	\$2,150.00
\$5,330.80	\$200.00	\$4,000.00	\$87.08	\$1,741.60	\$105.04	\$2,100.80	\$27.00	\$540.00	\$120.00	\$2,400.00
\$9,242.03	\$5,000.00	\$5,000.00	\$4,912.43	\$4,912.43	\$8,527.25	\$8,527.25	\$5,000.00	\$5,000.00	\$4,650.00	\$4,650.00
\$37,621.00	\$16.00	\$27,200.00	\$22.33	\$37,961.00	\$19.21	\$32,657.00	\$60.00	\$102,000.00	\$20.00	\$34,000.00
\$25,600.00	\$25.00	\$31,250.00	\$15.63	\$19,537.50	\$18.32	\$22,900.00	\$19.50	\$24,375.00	\$18.00	\$22,500.00
\$7,110.45	\$12.00	\$4,140.00	\$25.68	\$8,859.60	\$30.98	\$10,688.10	\$27.00	\$9,315.00	\$20.00	\$6,900.00
\$39,033.60	\$30.00	\$32,100.00	\$33.49	\$35,834.30	\$28.83	\$30,848.10	\$44.00	\$47,080.00	\$25.00	\$26,750.00
\$22,165.00	\$55.00	\$27,500.00	\$46.89	\$23,445.00	\$45.63	\$22,815.00	\$60.00	\$30,000.00	\$30.00	\$15,000.00
\$30,407.15	\$80.00	\$54,800.00	\$53.59	\$36,709.15	\$47.13	\$32,284.05	\$65.00	\$44,525.00	\$35.00	\$23,975.00
\$9,825.94	\$12,000.00	\$12,000.00	\$10,606.40	\$10,606.40	\$10,646.34	\$10,646.34	\$11,000.00	\$11,000.00	\$10,376.00	\$10,376.00
\$3,206.42	\$2,500.00	\$2,500.00	\$3,461.03	\$3,461.03	\$3,582.70	\$3,582.70	\$4,600.00	\$4,600.00	\$2,505.00	\$2,505.00
\$6,342.82	\$3,000.00	\$6,000.00	\$2,623.69	\$5,247.38	\$3,629.68	\$7,259.36	\$2,600.00	\$5,200.00	\$2,365.00	\$4,730.00
\$1,391.40	\$1,100.00	\$11,000.00	\$535.90	\$5,359.00	\$1,450.13	\$14,501.30	\$290.00	\$2,900.00	\$390.00	\$3,900.00
\$7,036.28	\$1,000.00	\$2,000.00	\$792.69	\$1,585.38	\$3,351.15	\$6,702.30	\$700.00	\$1,400.00	\$250.00	\$500.00
\$2,740,727.94		\$2,770,305.25		\$2,789,908.09		\$2,827,548.37		\$3,057,000.00		\$3,154,477.00